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1 A smal| metal ball is suspended in an 1. 
uniform electric field with the help of an 
insulated thread. If a high energy X-ray 
beam falls on it 
(A) The ball will not deflected at all. 

SECTION -I 
MATHEMATICS & SCIENCE 

(B) The ball will be deflected opposite to the 
direction of field. 

(c) The ball will be deflected in the direction 

of field. 

(D) The ball will move to infinity. 

2. The rate constant for the first order reaction 2. 

is 60 s1. The time in which it reduce the 

concentration of the reactant to 

is 

(A) 46 seconds 

(B) 4.6 x 10- seconds 

(C) 4.6 x 10- seconds 

(D) 2 seconds 

coming to rest ? 

(A) 1 cm 

how much wil| it penetrate more before 

(C) 2 cm 

th 1 value 

(B) 3 cm 

16 

(D) 4 cm 

fReRI 60 s-1 |TE 

(A) 46 tGuGUI 
(B) 4.6 x 103 tugH 

3. If a body loses half of its velocity on|3. yf y �t To0 yo h 3 

penetrating 3 cm in a wooden block, then 

(C) 4.6x 10 ougA 

(D) 2 hugI 

faRIHIT 3 GIY ? 
(A) 1 Cm 

(C) 2 Cm 

1 

16 

Page: 2 

th 

(B) 3 cm 

(D) 4 cm 
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4 

5 

6 

7 

If pendulum bob on a 2 metre string is 4 yf v yrgH qja GT 2 t t sRT 
displaced 60° from the vertical and then 
released, what is the speed of the bob as it is 
passes through the lowest point in its path ? 
(4) V2 m/sec (B) V2 x 9.8 m/sec 
(C) 4.43 m/sec 

the values of n andr 
(A) n =5, r = 4 

If"P, = P- and"C, ="Cra hen 

(c) n =4, r =5 

(A) Vertical 

(C) Horizontal 

compass needle will be 

(D) 1 

At the magnetic poles of the earth, a 6. 

(A) 38 

() 37 

V2 

is equal to 
(A) 2K 

(B) n = 3, r= 2 

(D) Inclined at 45° to the horizontal 

[AJo 

m/sec 

(D) n = 2, r =3 

The value of x in the following series: 

1+6+11 + 16 +..... +=148 

() (AJo 
2K 

(B) Bent slightly 

(B) 36 

(D) 39 

(B) 0.693 

K[AJ, 

5 

(D) 0.693 

K 

(A) V2 

(C) 4.43 . 

. 

(A) n =5, r = 4 

nP, ="P+1 

(C) n = 4, r = 5 

(A) Eafer 

(c) af 

7. fafr uf 
1 + 6 + 11 + 16 + 

(A) 38 

(C) 37 

(c) 

Page: 3 

8 The half-life period for a zero order reactiona y f ffbi * faY 3É 3Tg 

(A) 2K 

[AJo 

[AJo 

(3) /2 x 9,8 A. 

2K 

(D) 

(B) 

1 A. 

"C, ="Cr+1 

(D) n = 2, r = 3 

(B) 

n = 3,r= 2 

(D) 

(B) 36 

(D) 39 

+ x = 148 

0.693 

K[A]o 
0.693 

K 
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A bomb of mass 9 kg explodes into 2 pieces 9 
of mass 3 kg and 6 kg. The velocity of mass 3 

kg is 1.6 m/sec. The kinetic energy of mass b 
kg is 
(A) 1.92 Joule 

(C) 3.84 Joule 

horizontal with a kineic energy K. The 

(A) K 
k1netic energy at the highest point is 

4 

(C) zero 

(A) 

(8) 9 6 Joule 

10 A particle is projected at 60° to the 10 a5 uj K f hut 60 
(D) 2.92 Joule 

5 

The number of moles of KMn0, that will 11 

(C) 2 

be needed to react completely with one 
mole of ferrous oxalate in acidic solution is 

IUPAC name of 

(8) K 

(D) K 
2 

( Ethoy pentanol 

(B) 

(D) 1 

CH, -CH-CH, -0C,Hs 

(A) 1-Ethoxy propan-2-ol 

OH 

(B) 3-Ethoxy propan-1-ol 

3 

5 

(D) 2-hydroxy-3-pentanone 

Gost À ccaI t | 

3 kg çHA SI 41 1.6 41i. tI6 ka 

12. 

3 kg ste 6 kg 

(A) 1.92 d 
() 

(A) K 

4 

(C) 

KMn 0, 

(A) 4 

3.84 

(C) 2 

5 

-

(B) 9.6 d 

(D) 2.92 

3dÌete 
qutc: f fey 3TAYT 

Page: 4 

1 

OH 

(B) K 

(D) K 

2 

Ht t fT G bT 

CH,-CH-CH, -0C,Hs 

(B) 3 

Tf fdey 
-

(B) 3-eiTÍÌ TT+3Íot 

(D) 1 

(0) 2-814giRi-3-d7 

5 

1 IUPAC HTH 
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13 Root of the equation 3x + 7ix + 6 =0 

(A) 3i, 2i 

(C) 

17 

(C) C,H Mg Br 

14 Which of the following does not have a 14 
metal carbon bond ? 

(A) 4:7 

() K[Pr(C,H;)CI;] (8) Al(0C,Hs)3 

(C) 5:4 

property ? 

(8) 

centres, then the ratio of their radii 

(B) Optical activity 

(D) 

31. 

31., 

four B-particles is 

(A) 230pPU 

3 

(D) Ni(CO), 

(A) Depression in freezing point 

94 

(D) Eievation in boiling point 

(c) 230Th 

(8) 6:7 

( Relative lowering in vapour pressure 

90 

(D) 7:8 

The nucleus resulting from 

15 f the arcs of same length in two circles 15 1417 GAIÉ * rq qri o 
subtend angles of 60° and 75° at their 

successive emission of two a-particles and 

(B) 

238 

92 

230. 8g Ra 

13 TGu 3r+ 7ix + 6 = 0 * Ht ET 
(B) 2 

-3i, 

(o) 234 
92 

U after 

(A) 3i. 2i 

(C) 

(A) 

e Which of the following is not a colligative 16 ffafaa À TytTG TU T80 t -

(B) 

(C) 

? 

2i, 

60° 3R 

92 

2 

Al(OC, H5) 

(A) 4 : 7 

(C) 

(A) 

K[Pt(C,H,)CI,] 

17. 238| 

(C) 

C,H, Mg Br 

Page: 5 

5 : 4 

75° 

(B) ya1iy huretat 

(D) 

230pu 94 

(D) 

230� oTh 

3 
3. 

(B) 6 : 7 

Ni(CO), 

(D) 7 : 8 

(B) 

(D) 

230Ra 88 

B-ui 

239U 
92 

623403 



18 The length of the minute hand of a clock is 18. v y f lt t I 14 
14 cm. The area swept by the minute hand 
in 5 minutes. 

(A) 154 

21. 

19. 1f 

(C) 154 

6 

3 

(A) 5T 

6 

(C) 2T 

(C) 

3 

(A) 5 

0 <x <, then x is equal to 

20 In a single throw 
probability of getting 

108 

5 

cm² 

cm? 

216 

(C) 7, -7 

tan x + sec x = V3, 

(A) -10, 12 

(B) 154 

12 

(D) 154 

Its volume will be 

(A) 416 m³ 

(C) 216 m³ 

9 

(B) TT 

6 

(D) 1t 

(D) 

3 

(B) 1 

Real value of x and y, i 
:-1 

36 

1 

216 

cm² 

cm? 

such 

(B) -2, 5 

(D) -4, 6 

y-1 
+ 

3 +i 3-i 

its four walls (including doors) is 108 m². 

(B) 316 m³ 

(A) 

that 19. gf 

=i 

(D) 206 m 

(C) 

(A) 

(C) 

(A) 

(c) 

(A) 

154 

of three dice, the 20 f qrd yht JUd À pt T 5 
a total of 5 

3 

(A) 

154 

(c) 

o 6 

Page: 6 

5 

6 

2Tt 

3 

5 

21. x-1 

108 

5 

216 

(C) 7, -7 

+ 
3+ i 

10, 12 

tan x + sec x = V3. at 

(B) 

416 4 

(D) 

y-1 

216 3 

(B) 

(D) 

(B) 

(D) 

3-i 

154 

2 The length of a cold storage is double its 22 yo gta T8 r�TZ SY iss 
breadth. Its height is 3 metres. The area of 

12 

154 

(B) 

6 

(D) 

3 

1 

36 

1 

(B) -2, 5 

216 

(D) -4, 6 

316 3 

206 

6234 



23 A convex lens is in contact with concave23. va 3°g gdi H y6 I 
lens. The magnitude of the ratio of their 

focal lengths is Their equivalent focal 

(A) -10, 15 

length is 30 cm. What are their individual 
focal lengths in cm? 

(C) -75, 50 

(A) 7560 m² 
area of the triangle 

(C) 6750 m² 

24. The perimeter of a triangular field is 450 m24. 
and its sides are in the ratio 13 : 12: 5. The 

(A) 4:5 

2 

() 2:7 

3 

(C) 45 cm 

conductor ? 

(B) 75, 50 

(A) Cu metal 

(D) -15, 10 

(C) NaCl(s) 

(B) 6570 m² 

(D) 5670 m² 

(B) 3:7 

(D) 4:9 

(B) 30 cm 

(A) 10, 15 

(8) NaCl(aq) 

(C) -75, 50 

(D) NaCl (molten) 

3 

(A) 

(C) 

26. Three masses are placed on the x-axis :300| 26. I GH 

gm at origin, 500 gm x at = 40 cm and 400 

gm x at= 70 cm. The distance of the centre 

of mass from the origin is 
(A) 40 cm 

faAR t 
GT SHT HU13 oT 

25 In what ratio does the point (-4, 6) divide 25. fagt A-6, 10) RII B(3, -8) 
the line segment joining the points A(-6, 10} 
and B(3, -8) ? 

7560 

6750 

n. Which of the following is not a good 27. ff À 

(A) 4 : 5 

(C) 2 : 7 

fg 4R, 500 

GT 400 gm 

(A) 40 . 

(c) 45 Î. 

Page:7 

(A) Cu ig 

(B) 75, 50 

(C) NaCl(s) 

(D) 15., 10 

yfRAs 450 
374T 13 : 12 : 5 

(B) 

(D) 

6570 2 

5670 

(B) 3 : 7 

(D) 4 : 9 

x-HA YR, 300 gm 

gm l x = 40 

Y = 70 H 

(B) 30 r. 

(D) 50 . 

HT 

t y 

r T 

H I YaT# 10 ? 
(8) NaCl(aq) 

(D) NaCl (tu g) 

623403 
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elcetdge errors in the measurements of 28. ZaHG 3 T H9 H sh4F 2% 

mass and speed are 2% and 3% respectively. 
The error in the estimate of kinetic energy 

obtained by measuring mass and speed will 
be 

(A) 10% 

() 2% 

(9 Nat 

(B) 8% 

(D) 12% 

29 Nessler's reagent is used for the detection of 29. HARI 4McHco o| S4T YGT �| 

(A) Cu2+ 

the other reactants are 

(A) CH, + NH, (B) CH + CH,Cl 

(D) CH, + CH, 

(B) NH 

(D) K+ 

() CH� + CH,COCI 

(C) Chalcocite 

31 Which ore contains both iron and copper ? 
(A) Cuprite 

(B) 25 watt bulb 

x In Friedel Crafts aikylation, besides AlCI,,30. vÔis h14E qftelau À 

(B) Chalcopyrite 

(D) Malachite 

connected to the mains. Which bulb will 
glow brighter ? 

(D) 100 watt bulb 

(A) Both will glow with same brightness 

(A) 10% 

(c) 2% 

(C) First 25 watt bulb and then 100 watt 
bulb 

(A) Cu2+ 

(C) Nat 

(A) 

(B) 

(c) 

(D) 

CçH + NH, 

CçHg + CH,Cl 

CeHs + CH, 

(A) Id 
(C) dlecoI^E 

(B) 8% 

Page: 8 

(D) 12% 

(B) 25 qIc T 

CçH, + CH, COCI 

(B) 

32 A 25 watt -220 volt bulb and a 100 watt | 32. 25 qIc -220 le Ê Ì 100 
-220 volt bulb are joined in series and 

(D) 100 Ic hT 

NH; 
(D) K+ 

AlCl, 

(B) rccorqRI_E 
(D) etalge 

(C) ygg 25 q s f 100 qIc T 

623-40 
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33. The molarity of pure water is (density of 33. G G â HaRGI È (tld | g = 1 water = 1 gm L-1) 
(A) 44.4 M 

(C) 66.66 M 

due to 

34. The water droplets in free fall are spherical 34. 

(A) Gravity 

(C) Surface tension 

(B) 55.55 M 

(D) 45.55 M 

(D) Intermolecular attraction 

35 The work done in placing a charge of 
8 x 10-18 Coulomb on a capacitor of 

(B) Viscosity 

capacity 100 microfarad is 
(A) 16 x 10-32 Joule 

(B) 3.1 x 10-26 Joule 

(C) 4 x 10-1° joule 

(A) CH, Cl 

(D) 32 X 10-32 Joule 

() CH,OH 

(C) 24C 

(B) CH¡ CN 

(D) CH, CHO 

minutes and same body cools from 80 °C to 

52 °C in 10 minutes. What is the 

temperature of surroundings ? 
(A) 22 C 

gm L1) 

(B) 25 °C 

(A) 44.4 M 

(D) 28 °C 

(C) 66.66 M 

36. Which of the following behaves both as36. f 
nucleophile as well as an electrophile? 

(A) Ta 
(C) yo THIA 

(A) 

(0) 4TSU# 3HTHHUT 

(B) 

35. 100 HSsTNG fR ieRa 

(C) 

(D) 

(A) 

(c) 

(A) 

(C) 

3.1 x 10-26 

Page:9 

4 x 10-10 

16 x 10-32 yoT 

(B) 55.55 M 

CH,Cl 

(D) 45.55 M 

CH,OH 

37 A body cools from 80 °C to 64 °C in 537. y# rorA 80 c 64 c �# gugI 5 

(B) GI 

32 x 10-32 gT 

22 °C 

24°C 

(B) 

52 °C G GUT 10 HE 3I | 

(D) 

CH,CN 

(B) 

CH, CHO 

(D) 

25 °C 

28 °C 

623403 



* In a AABC, AB = V3 c, AC = 12 cm and| 38. c5 

BC = 6 cm, then the angle B is 
(A) 45 

(C) 60° 

(A) 1.5 E, 

KEJ E,. Its potential energy is 

(C) -E 

(8) 120° 

(D) 90o 

(A) 24 

(C) 30 

40 If y = 3- 2\2 then x +will be 

(B) 2 E 

(D) Eo 

39 An artificial satellite moving in a circular |39. y# pa4 34E 0 yedt a 

orbit around the earth has total energy [PE + 

(s) 34 

(D) 36 

40. 

AC = 12 qI BC = 6 

(A) 

(c) 

(A) 

(C) 

(A) 24 

(C) 30 

45° 

Page: 10 

60° 

AABC 4, AB = 65 A 

1.5 E, 

-Eo 

(B) 120° 

(D) 90° 

(B) 

(D) 

(B) 34 

(D) 36 

2 E 

E, 

623403 
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FASHION DESIGN &GARMENT TECHNOLOGY 

41 Stitches of stitching/sewing machine are 41 
enlarged or shortened by -
(A) take up lever 

(C) thread-tension device 

(D) stitch-regular screw 

42 Yoke' is following part of garment : 
(A) lower/bottom part 

(B) Middle part 

(9 Side part 

SECTION - I| 

43 Hemp is a type of 
(A) Mineral fabric 

(C) None of these 

(A) 6 

(C) 4 

(A) vertical lines 

( Curve lines 

(B) pressure bar 

(A) 16" 

(G 14" 

(D) Top part 

(A) 24 number 

(B) Natural fabric 

44 What are the numbers of stages in a Fashion 44. l À HATIÝ fbit at ? wheel ? 

() 8 nunber 

(D) Man-made fabric 

(B) 5 

(D) 3 

(B) V-shaper lines 

46 For a fatty man/woman which type of line 45. p He y/HBI fY fcoT YOTR I dress is most suitable ? 

(D) horizontal lines 

(B) 12" 

(C) - sASI 

(D) 15" 

(A) 

46 If the measurernent of chest is 36 inch then, 46 yf STÌ ôT HÊs 36 sy B T Neck will be (for a general man) 

(8) 5 number 

(C) fR I 

(D) 2 number 

(A) 6 

(C) 4 

(A) 

T 

(c) 

16" 

II 

14" 

Pag: || 

(D) G4R pT 

(A) 24 ar 

(C) 8 Htd 

(B) 5 

(D) 3 

41 The needle used for stitching of canvass47 qI Yco fI foy HS suitcase is 

(B) 12" 

(D) 15" 

(B) 5 Tr 

(0) 2 qidr 

623403 



4 Smocking' s used in following garment (A) Pant 

(C) Shatwar 

(A) None of these 
49 Whch dart is used in frock 

(C) Slash dart 

(A) Africa 

(C) Europe 

(B) frock 

iA Georgette work 

(D) Shirt 

(C Cotton cioth 

S image resolution is 
(A) Pixel per inch 

(8) French dart 

(D) Plain dart 

S Origin of Fashion is related to which part of s0 A 3uft fagg fo 4t 
the worid ? 

51 "0 -2" Needie is used in 

(B) Asia 

(D) America 

(B) Quilt mattress 

(D) None of these 

(8) Pixel per square inch 

( Dots per pixel (D) None of these 

s What is standard size of pressing table ? 

iA) Length -5 feet, height 
(6) Length - 5 feet, height 

(G Length- 4 feet, height 
(D) Length - 4 feet, height 

30", width 24" 

36", width 27" 

36", width 27" 

() 4TN 

53. 

() sI 

(A) stI 

(B) 
(C) SAH uf f 

TT fa 
(A) ATÉ -

24" 

27" 

(0) 

(D) sIé 

24" 

(8) frT 
(D) froT 

Page: 12 

(B) TOIÉ�¢ 

yf qf a 

H16 HTs ÊI 
5 fe, 

(8) raTÉ - 5 e, as - 36", �tsTS 

? 
s 30", tsrs 

() aTÉ - 4 se, has 36", ss 
27" 

(D)ATÉ - 4 fe, as- 30'", tsI 

6234 
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54. What is Full form of 'CAD' ? 
(A) Controlled Access Design 

(B) Computer Aided Department 

(C) Computer Aided Design 

(D) Computer Access Design 

55. Shears are used -

(A) for stitching 

(B) for cutting/trimming 
(C) For measuring 

56. In drafting the 'symbol' used 'N.W.' denotes 
(A) Women neck (B) Natural waist 

(C) Cloth warp in length 

(D) cloth warp in width 

(A) Processor 

() CU 

(D) for making design 

5. A hardware device that is capable of s7. y# I`AUR sAEU tu ggo4 
executinga sequence of instruction is called 

58. MICR stand for 

(B) None of these 

(A) Magnetic Ink Character Reader 

(B) CPU 

59. Flap' is used in -

(D) ALU 

(9 Magnetic Ink Code Reader 

(A) Sleeve 

(C) Collar 

(D) Magnetic Ink Cheque Reader 

56 

(B) Pocket 

(D) Neck 

(B) affi art 

58. MICR T HGdq 

(A) Fftg 
(C) aicR 

Page: 13 

(B) f.i.q, 
(D) .yd. 
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60. The psychological effects of 'orange' colour 60 
is 

(A) Eco-friendly, Fertility, Good Luck etc. 

(8) Happiness, Proud, Intelligency etc. 

(C) Enthusiasm, Bravery, Knowledge etc. 
(D) Cool, Peace, Trust etc. 

61. Word 'Pert-o-porter' is related to 
(A) cotton dress 

(C) readymade dress (D) fancy dress 

62. Needie Board' is used for 

(A) Embroidery 

(C) Pressing 

63 Fly' is used for 
(A) covering pocket 

(C) for opening 

(B) woolen dress 

(B) covering button or zip 

carried out for -

(B) sale on discount 

(B) Keeping needles 

64. Boutique' is the place where exhibition is64. 

(D) None of these 

(A) readymade dress and garments 

(A) 60 inch 

(D) None of these 

(C) 62 inch 

(C) designers dress (D) antique dress 

65 Length of measuring tape is 
(B) 64 inch 

(D) 68 inch 

(e) yHGI, ¢, qHT ̂ TfI 

(0) guGT, YT, faAI 3I 

(C) 

(A) 60 gs 

(C) 62 j� 

Page: 14 

(B) 64 gT 

(D) 68 gs 
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66. Measurement of Drafting table is 
(A) None of these 

(C) 4' X 6' x 3' 

(A) ++ 

(c) # 

67. The sign of more padding' is 

(A) Welt pocket 

(C) Watch pocket 

is 

68. Confidential pocket of men's pant is called 

(A) 9 

(C) 8 

(B) 

(A) 8" x 16" 

(D) 3' x 6' x 6' 

(C) 12" x 24" 

(B) 

69 The number of heads in the 'Fashion figure'69. 

6' x 4' x 3' 

(D) -

70 In followings which is not a 'body type' ? 
(A) Plus size (B) Pear shape 

to 

(B) Side pocket 

(C) culmination figure (D) Hour glass figure 

71. The size of 'L' scale sides is 

(A) 8 parts 

(D) Slant pocket 

(C) 6 parts 

(B) 10 

(D) 11 

(B) 5" x 10" 

(D) 10" x 20" 

() Corpulent figure (D) Erect figure 
(B) Stooping figure 

66. 

68. 

(B) 7 parts 

(D) 5 parts 

(A) gT 
(c) 

(A) +++ 

4' x 6' x 3' 

(c) # 

(A) 9 

(C) 8 

(A) 

(C) 

8" x 16" 

12" x 24" 

() fRrER (of) ftbR 

(A) Fehc fR 

i (B) 6 x 4' x 3' 

Page: 15 

(D) 3' >X 6' X 6' 

72 If the waist is more than the size of chest 72. yf T V fy 3T þHr I T 

and hip, then this figure is called as 
(A) Stout figure 

(A) 8 4TÌÌ À 
(c) 6 4 À 

(B) 

(D) -

(B) 10 

(D) 11 

73. The body of a general/normal man is divided| 73. fot IH H4 YR �I icI IdI 

(B) 

(D) 

5" x 10" 

10" × 20" 

(8) �fn fesR 
(D) gT fhR 

(B) 7 4 À 

(D) 5 4 

623403 



74. What is the factor which affect fashion ? 
(A) Economic status 

(C) All 

(A) Usha 
75. Who invented sewing machine ? 

(C) Singer 

(A) 5'6" 

(C) 5'8" 

(A) 18 inch 

(C) 20 inch 

(A) Lock stitch 

(C) Zig-zag stitch 

76 According to Indian standard generally76. 4TRÍÂT H 4IR y4T t HTHN 

length of Man is 

number needle. 

(B) Political status 

(A) 11 and 14 

(D) Climate 

(c) 9 and 11 

80. What is QC ? 
(A) Quality cost 

(C) Quality customer 

(B) Alias Hope 

(D) Charles Senthal 

(A) 6 

(C) 9 

(B) 5'4" 

(D) 5'10" 

79 Embroidery work is done by 

(B) 24 inch 

7. What is the standard measurement of 77. 5 6 qé qd GHR Ì 15 
'waist' for a child aged 5 to 6 year? 

(D) 22 inch 

(B) None of these 

(D) Chain stitch 

(B) 21 and 24 

(D) 9 and 24 

81. The number of darts in the simple blouse is 

74 

78. Which of the following is most durable stitch 78. fTIS HT h GIRI t T H HuT 
made by stitching/sewing machine ? 

(B) Quality control 

(D) Quality concept 

75 

(B) 10 

(D) 7 

(A) 3f fRert 

() f 

79 

(A) GT 

(C) iR 

80 

(A) 5'6" 

(c) 5'8" 

(A) 18 zs 

GIlGI ? 
(A) 11 q 14 

(C) 9 q 11 

QC T ? 

(B) IAs ef 

(D) IY 

(A) 6 

(B) 

(C) 9 

(D) 

Page: 16 

5'4" 

5'10" 

(B) 24 j� 

(D) 22 jy 

(D) fRea 

(B) 21 q 24 

(c) afe THR (D) atf i 

(D) 9 q 24 

(B) tfet hri 

(B) 10 

(D) 7 
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S The famous work of Lucknow is 

(A) Block print work (B) Chikan work 
(C) Patch work 

o The chest size of 3-4 years old child is 83 IIHJ 3-4 ga T generally 
(A) 26 inches 

(C) 18 inches 

(A) Wool 

(C) Silk 

A Which of the following materials fibre84. fetgT-yfy H 3g foi 4 contains largest abrasion resistance ? 

(A) Pattern making 

() Trimming 

85 Quilting' is an art used in 

(A) H 
4 

(C) H 

4 

-+ 2" 

1" 
+2 

(D) Applic work 

4 

87. Tracing wheel' is used 

(B) 28 inches 

(D) 22 inches 

(A) for stitching 

(B) Cotton 

86. For Body rise' of the children, the correct 86. r g& fey H8 Ya È (H formula is (H is measurement of Hip) 

(D) Nylon 

() Database 

(B) Sewing 

(D) Measurement 

(B) H 

4 

(D) H 

4 

-+ 

(8) Valuable information 

1" 

+ 3" 

(8) for marking 

() for cutting pattern (D) for making design 

86. A collection of related data is known as 
(A) Information 

(A) 26 j� 

(C) 18 $ 

(D) Metadata 

87 

(A) h 

(C) foco 

(A) 

(C) 

H 
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4t 2" 

H 

4 

(A) ggT 

(B) 28 jy 

(D) 22 T 

1" 
+2 

4 

(B) YT 

(D) rAT 

(B) RTGITÉ 
(D) HIy 

(B) 

(D) 

(B) 

H 

4 

H 

1 
+2 

2 

4 3" 

(D) HeT SICI 

(D) fSIS7 gI 
À 

623403 



89 'Kimono' is a sort of 

(A) collar 

(C) sleeve 

(D) wrist part of sleeve 

90. Pleats' are used in dress making 
(A) All of these 

(B) To give good shape of dress 

(c) for fitting and fullness of dress 

(D) To set small part with big part 

91. What is Tucks' 

(A) A types of pattern 

(8) A part of sewing machine 
(C) Fancy seams 

(B) pocket 

(A) pressure foot 

() Feed-dog 

(A) Feed Dog 

(C) Feed Horse 

(D) Types of sleeve 

(A) Makirng line 

(B) Shuttle 

(D) Needle bar 

92 The internal part of machine among 92. f HrH 0Gr I Yot JG 

following is 

(B) Tension stud 

(D) Slide plate 

94. 'French curve' is used for 

90 

(B) Making design 

() Making curve/Round shape 

(D) Making pattern 

(A) hl 

(C) 3R 

(A) 

93 The parts of sewing machine used for 93. IIS 4eT yot G qç i 3TTT 

forwarding the cloth is 

94. 

ferg 

91. C T ? 

(C) GGI| 

(B) oe 

(c) s 

(D) 
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(B) T 

(B) eS 

(B) fg7 4 
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6 According to tailoring which one is not6 aftu 
correct ? 

A) Length of standard body is 54" 

(8) Length of hand is 2 times face length. 

(C) Length of face is8" 

(D) Length of leg is 4 times of face length. 

Which one is not a decorative stitch among 96 f À tH uId 
ia 0 ? 
the following ? 
(A Loop and Blanket Stitches 

(B) Herring Bone Stitch 

(C) Fish Bone Stitch (D) Surgical Stitch 

Which software is used for designing? 
(A) Tally software 

() Vista system software 

(D) Microsoft power point 

(4) frorm both side 

(C) from top 

(B) Picasa software 

(A) None of these 

Light should come at the time of working 98. qgir y o o 44 T 3TT 
with machine 

() Photoshop 

Which is not application software ? 

(8) from right 

() Violet/Purple 

(D) from left 

(B) PageMaker 

(D) Windows NT 

(B) f a Ret 

(B) Sky blue 

(A) 

(D) Black 

(c) faeT 

(A) Gr5 

(C) steieiy 

100. On mixing of Red' and 'Blue' colours, we get 100. lT tr tI T o AI q 9I slI 
(A) Green -

(B) ftTAI 

(A) BT 
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(B) Gf aRS 

(D) qri R5 

(D) fdsta Aâ. 

(D) lgI 
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